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2. Evaluate
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3. The average time to answer a phone call at a call center is 4
minutes, What is the probability that the phone is answered in
more than 1 minute?

-
1 e L
C-::-L y SO ‘ﬁ(’}f.):‘-“ z‘i y “E
gt o ~ X [+ ,_zl_. 7,
1A} - — G \ _ o
L€ t C/)C _-.-’«'m- e - 1((‘4 +&



4
4. What is the mean for the following probability density function?
_ dx{l —2%) if 0<z <1
fla) = { e

1 otherwise
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5. For what value of k is the following function a probability
density function?

Fla) = ksin(Zf) 0 <z <2
S 0 otherwise
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6. If the sequence {a,} is defined by a, = n®e ", then what is

im a,?
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{{} The limit does not exist.
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If

‘i_im_n'llan = L.
What is L7
(a) 2
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7. The sequence {a,} is defined by the recursive formula:

a1 = /6, ay.1 = /6 + ay,. Suppose that
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9. Which of the following 3 series is convergent?

o0 oo
n , Inn
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n=1

OO0

(a) only 1
(b) only 2
(¢) only 3
(d) 1T and 2

() 1 and 3

1011@ of the series is convergent.
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10. Find all values of ¢ for which the series

a?’i-+l

Z (m 1')” 3n

n=1

converges.

—3<a,<3

(¢) =3 <a<?
(d) -1 <a<1

(¢) =9 <a<9
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11. Which of the following 3 series is convergent?

o0 1 o0 n2 2o 1
WXFm OXam OXg
(a) only 1
(b) only 2
(¢) only 3
(d) 1 and 2
(e} 1 and 3
(f) 2 and 3
-l L o<k
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12, Find lim, (1 + %)”
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X
13. What is 209
hat is MZ_% R
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14. Which of the following sequences is bounded?
_an+ 1 I _sinn

bp=mn—— Cp =
n-+1 ’ e} i

Uy,

(a) only {a,}
(b) only {an} and {b,}
(c) only {c,}

(d) only {b,} and {c,}

on]_y {a,} and {c,}

(f) all of them
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15. If @ and b are two positive integers such that

{

;= 04777777777 ...,
then what is o7
(a) 13
{(b) 23
(¢) 29
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16. Let § = >, ‘?;l“g Using the Remainder Estimate for the
Integral Test, find the smallest value of n that will ensure the
error in the approximation S ~ S, is less than 0.01.
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17. Let {a,} be a sequence. Which of the following 3 statements
15 true.

1. Ifa, is positive for all n and Him, . a, = 0, then the series
> a, converges.

2. If 0 < a, <10 for all n, then the sequence {a,} converges.

@. If a,, is positive for all n and the sequence {a,} is decreas-
ing, then {a,} converges.

(a) only 1
{(b) only 2
only 3
(d)} 1 and 2
(e) 1 and 3

(f) 2 and 3
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